Sec 3.5 Inverse Trigonometric Functions

A. Unit Circle and Common Values

Degrees Radians sin @ cos O tan 0 cot 0 sec 0 csc O
0° 0 0 1 0 Undefined 1 Undefined
30° /6 12 V312 V33 V3 2373 2
45° nld VE 12 *JE f2 1 1 2 2
60° /3 J312 12 N V33 2 2313
90° 2 1 0 Undefined 0 Undefined 1
120° 2713 372 12 -3 -3/3 2 2373
135° 3n/4 V212 212 1 1 -2 N
150° 5116 17 -J3/2 -3/3 V3 2.3/3 2
180° T 0 1 0 Undefined 1 Undefined
210° 7/6 112 -3/ 33 J3 -23/3 -2
225° 5n/4 212 212 1 1 -2 2
240° 4713 32 12 V3 V373 2 2,373
270° 3n/2 -1 0 Undefined 0 Unde 1
300° 5m/3 -J3/2 112 3 -3 2 -23/3
315° T4 22 J2/2 1 1 ) 3
330° 117/6 12 J3/2 -3/3 -3 2373 2
360° 27 0 1 0 Undefined 1 Undefined



http://en.wikipedia.org/wiki/File:Unit_circle_angles.svg

B. Derivatives of Inverse Trigonometric Functions (You must know these!)

d (. _ e = 2
1.) &(sm 1X) = ]sz 4.) dx(csclx) = I —1
d - 1
2.) %(cos‘lx) = - 1ix2 5.) &(Seclx) = 1
d _ 1
3. %(tan‘lx) = 1+1x2 6.) &(COth) T T

Examples

1.) Find the exact value of each expression. Your answer should be either a fraction or an integer.

cos (1) =| g
sin~'(v/2/2) =

sin1(1/2) =]
arctan(tan(77/6)) =

sin(arcsin(0.9) =

2) Let f(x)=(tan™x) . Find £'(x).

3) Let f(x)=cos*(e®).Find f'(x).

lim sin 'a =

4.) Find the limit: x=—1—

lim arctan(—e") =
5.) Find the limit: =—oc



